Math 163: A somewhat Historical Approach to Power Series
PS6: Convergence and the Ratio Test
Questions for flipped class
(PS6.1)

Find the radius of convergence of 






(PS6.2)

Find the radius of convergence of 






(PS6.3)

Find the radius of convergence of 





(PS6.4)

Find the radius of convergence of 







(PS6.5)

Find the radius of convergence of 







(PS6.6)

Find the radius of convergence of 


(PS6.1 solution)
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(PS6.2 solution)
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(PS6.3 solution)
[image: ]




(PS6.4 solution)
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(PS6.5 solution)
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(PS6.6 solution)
[bookmark: _GoBack][image: ]




image3.wmf
(

)

1

1

4ln

n

n

n

n

x

n

¥

=

-

å


oleObject3.bin

image4.wmf
(

)

1

1

5

n

n

n

nx

¥

=

+

å


oleObject4.bin

image5.wmf
(

)

1

!21

n

n

nx

¥

=

-

å


oleObject5.bin

image6.wmf
(

)

1

135...21

n

n

x

n

¥

=

××××-

å


oleObject6.bin

image7.png
= i . Jf;{ = Ixl

o e

v e

Avd s0 vhe senes cowverges whew (wl ¢

(we drept svre shovs Xz 1) pud 2= A




image8.png
1 i ‘
lia \Wﬁmy‘“* ,ﬁj—~\ = \0\% b e 7"”‘5‘1

prel ey o WY
)
Mod o He  spaes  cewvergps whee %] < e
, )
(we ocewt surd oboe Y= '}) awd =




image9.png
vl

wa |
i [T | 2
Moo | g ey 0y Y 4w ot
Se  Hae eVes  Ceowverges @ /‘ IM‘ ::A
P 4 M
when X €t (e arenr 1wl i
Swre om Y=ty and B —‘T

R =Y.




image10.png
R
vy (wa) 5" \*”l (im P
. 1

v (X “’YJ

firm
VDo 5

v

o
V2 N

5 -
Avd ot senes wwefjﬂ's = l$+\]

whe« Ix+if <8 (e 0‘(‘%{41’ ©
bure whew X h{'-g\qmﬁ =5





image11.png
b LV*UI.('L xrr)’)”

FEXE

= Yaxo) e
HF(ZX"\B yoes

5o the senes oml conrvered s oeo =1
'ﬂ %é, X 7
Q/J& R = ¢ D




image12.png
I V) . ‘
(R * e e | ) L
A x¥ 2 T
= Q
5o

ais senes co,\;‘/&(.% _;dr‘

o\ x's a,\,d’ R =20,




image1.wmf
(

)

3

1

1

n

n

n

x

n

¥

=

-

å


oleObject1.bin

image2.wmf
3

1

10

nn

n

x

n

¥

=

å


oleObject2.bin

